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N Qx Qy M’ x My
REHifE 12,080.6 0.0 0.0 0.0 0.0
EHEERE 16,805.6 0.0 0.0 0.0 0.0
S A EX 6,568.1 1,970.4 0.0 0.0 5911.3
SHAMEY 6,568.1 0.0 1,970.4 59113 0.0
BEHRAWRT T+ KEX 12,618.6 319.8 0.0 0.0 959.4
EHRAWRTIF+KEY 12,618.6 0.0 746.2 2,238.7 0.0
EHEMWLE T +KEX -9,028.6 319.8 0.0 0.0 959.4
EHAEME I +KEY -9,028.6 0.0 746.2 2,238.7 0.0
| - U4 — R EREHEEREE | Fo=18N/mm’
: HEBRE  :a= 550 mm
- | NS e = 140 mm
. 4\ ' = HOMSY k= 80 mm
= o FEHISHE Q= 1,970 N
F i HRIEEE M= 5911 Nm
L ! rEs th = 3,000 mm
] %l _ h1 = 2/3 X a= 367 mm
- = h2 = h+a/6= 3,092 mm
] :% F P= M/h-= 1,970 N
= ®EBaY)—HMERTSHE F
. F=(h1+h2) /h1XP+Q= 20,555 N
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(Bt A BT EIHR S ™ |t ARE Rc= Tpa X S= 52,202 N
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